

County Distribution Detail Report through 04/05/2016

Aurora

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 1,299 | 1,820 | 4 | 3,123 | \$3,903.75 | \$93.85 | \$3,809.90 | 0.70 | \$2,666.93 |
| | | | | | | | Entity Tota | al: | \$2,666.93 |
| | | | | | | | Adjustmen | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$2,666.93 |
| Beadle | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2016 | 4,794 | 9,934 | 32 | 14,760 | \$18,450.00 | \$386.03 | \$18,063.97 | 0.70 | \$12,644.78 |
| | | | | | | | Entity Tota | al: | \$12,644.78 |
| | | | | | | | Adjustmen | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$12,644.78 |
| Bennett | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2016 | 955 | 1,040 | 2 | 1,997 | \$2,496.25 | \$57.29 | \$2,438.96 | 0.70 | \$1,707.27 |
| | | | | | | | Entity Tota | al: | \$1,707.27 |
| | | | | | | | Adjustmen | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$1,707.27 |
| Bon Homme | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2016 | 2,384 | 3,606 | 10 | 6,000 | \$7,500.00 | \$150.11 | \$7,349.89 | 0.70 | \$5,144.92 |

| | | | | | | | Adjustmer | nt: | \$0.00 |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| | | | | | | | Total Amo | unt: | \$5,144.92 |
| Brookings | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2016 | 9,388 | 18,850 | 853 | 29,091 | \$36,363.75 | \$738.98 | \$35,624.77 | 0.70 | \$24,937.34 |
| | | | | | | | Entity Tota | al: | \$24,937.34 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$24,937.34 |
| Brown | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2016 | 12,311 | 24,412 | 154 | 36,877 | \$46,096.25 | \$965.94 | \$45,130.31 | 0.70 | \$31,591.22 |
| | | | | | | | Entity Tota | al: | \$31,591.22 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$31,591.22 |
| Brule | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2016 | 2,821 | 3,433 | 5 | 6,259 | \$7,823.75 | \$162.30 | \$7,661.45 | 0.70 | \$5,363.02 |
| | | | | | | | Entity Tota | al: | \$5,363.02 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$5,363.02 |
| Buffalo | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2016 | 624 | 374 | 1 | 999 | \$1,248.75 | \$26.21 | \$1,222.54 | 0.70 | \$855.78 |
| | | | | | | | Entity Tota | al: | \$855.78 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$855.78 |
| Butte | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2016 | 2,923 | 5,883 | 11 | 8,817 | \$11,021.25 | \$228.30 | \$10,792.95 | 0.70 | \$7,555.07 |

| | | | | | | | Entity Tota Adjustmen Total Amo | \$7,555.07 \$0.00 \$7,555.07 | |
|----------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------------------------------|------------------------------------|---------------|
| Campbell | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2016 | 846 | 1,413 | 2 | 2,261 | \$2,826.25 | \$58.68 | \$2,767.57 | 0.70 | \$1,937.30 |
| | | | | | | | Entity Tota | al: | \$1,937.30 |
| | | | | | | | Adjustmen | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$1,937.30 |
| Charles Mix | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2016 | 3,306 | 4,860 | 8 | 8,174 | \$10,217.50 | \$207.65 | \$10,009.85 | 0.70 | \$7,006.90 |
| | | | | | | | Entity Tota | al: | \$7,006.90 |
| | | | | | | | Adjustmen | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$7,006.90 |
| City of Box Elder, M | eade Co | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity | Entity Amount |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount | |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|--|
| 2/2016 | 66 | 1,430 | 0 | 1,496 | \$1,870.00 | \$38.48 | \$1,831.52 | 0.70 | \$1,282.06 | |
| | | | | | | | Entity Tota | l: | \$1,282.06 | |
| | | | | | | | Adjustmen | t: | \$0.00 | |
| | | | | | | | Total Amou | int: | \$1,282.06 | |

City of North Sioux City, Uni

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 1/2016 | 0 | 250 | 0 | 250 | \$312.50 | \$6.25 | \$306.25 | 0.70 | \$214.38 |
| 2/2016 | 1,482 | 2,246 | 62 | 3,790 | \$4,737.50 | \$108.67 | \$4,628.83 | 0.70 | \$3,240.18 |
| 12/2015 | 0 | 57 | 0 | 57 | \$71.25 | \$1.43 | \$69.82 | 0.70 | \$48.87 |

| Entity Total: | \$3,503.43 |
|---------------|------------|
| Adjustment: | \$0.00 |
| Total Amount: | \$3,503.43 |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 6,035 | 17,437 | 149 | 23,621 | \$29,526.25 | \$646.93 | \$28,879.32 | 0.70 | \$20,215.52 |
| | | | | | | | Entity Total: | | \$20,215.52 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amou | int: | \$20,215.52 |
| Clark | | | | | | | | | |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 1,651 | 2,385 | 2 | 4,038 | \$5,047.50 | \$102.40 | \$4,945.10 | 0.70 | \$3,461.57 |
| | | | | | | | Entity Tota | d: | \$3,461.57 |
| | | | | | | | Adjustmer | it: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$3,461.57 |

Clay

City of Sioux Falls, Lincoln (

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 1,930 | 6,995 | 50 | 8,975 | \$11,218.75 | \$235.25 | \$10,983.50 | 0.70 | \$7,688.45 |
| | | | | | | | Entity Tota | l: | \$7,688.45 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amou | int: | \$7,688.45 |

Codington

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 8,628 | 17,717 | 56 | 26,401 | \$33,001.25 | \$665.97 | \$32,335.28 | 0.70 | \$22,634.70 |
| | | | | | | | Entity Tota | l: | \$22,634.70 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amou | int: | \$22,634.70 |

Corson

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 1,471 | 495 | 4 | 1,970 | \$2,462.50 | \$57.35 | \$2,405.15 | 0.70 | \$1,683.61 |

| | | | | | | | Adjustmen | it: | \$0.00 |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| | | | | | | | Total Amo | unt: | \$1,683.61 |
| Custer | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2016 | 3,667 | 4,634 | 24 | 8,325 | \$10,406.25 | \$234.47 | \$10,171.78 | 0.70 | \$7,120.25 |
| | | | | | | | Entity Tota | al: | \$7,120.25 |
| | | | | | | | Adjustmen | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$7,120.25 |
| Davison | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2016 | 6,677 | 13,035 | 149 | 19,861 | \$24,826.25 | \$514.23 | \$24,312.02 | 0.70 | \$17,018.41 |
| | | | | | | | Entity Tota | al: | \$17,018.41 |
| | | | | | | | Adjustmen | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$17,018.41 |
| Day | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2016 | 2,487 | 3,426 | 4 | 5,917 | \$7,396.25 | \$149.60 | \$7,246.65 | 0.70 | \$5,072.66 |
| | | | | | | | Entity Tota | al: | \$5,072.66 |
| | | | | | | | Adjustmen | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$5,072.66 |
| Deuel | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2016 | 2,232 | 2,778 | 5 | 5,015 | \$6,268.75 | \$138.90 | \$6,129.85 | 0.70 | \$4,290.90 |
| | | | | | | | Entity Tota | al: | \$4,290.90 |
| | | | | | | | Adjustmen | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$4,290.90 |
| Douglas | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2016 | 1,463 | 2,016 | 4 | 3,483 | \$4,353.75 | \$87.62 | \$4,266.13 | 0.70 | \$2,986.29 |

| | | | | | | | Entity Tota | l: | \$2,986.29 |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amou | unt: | \$2,986.29 |
| Edmunds | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2016 | 1,504 | 2,676 | 7 | 4,187 | \$5,233.75 | \$104.81 | \$5,128.94 | 0.70 | \$3,590.26 |
| | | | | | | | Entity Tota | l: | \$3,590.26 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amou | unt: | \$3,590.26 |
| Fall River | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2016 | 3,571 | 3,982 | 8 | 7,561 | \$9,451.25 | \$191.43 | \$9,259.82 | 0.70 | \$6,481.87 |
| | | | | | | | Entity Tota | l: | \$6,481.87 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amou | unt: | \$6,481.87 |
| Faulk | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2016 | 1,014 | 1,356 | 4 | 2,374 | \$2,967.50 | \$60.68 | \$2,906.82 | 0.70 | \$2,034.77 |
| | | | | | | | Entity Tota | l: | \$2,034.77 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amou | unt: | \$2,034.77 |

Grant

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 2,778 | 5,074 | 152 | 8,004 | \$10,005.00 | \$225.41 | \$9,779.59 | 0.70 | \$6,845.71 |
| | | | | | | | Entity Tota | I: | \$6,845.71 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amou | int: | \$6,845.71 |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 1,999 | 3,464 | 3 | 5,466 | \$6,832.50 | \$146.50 | \$6,686.00 | 0.70 | \$4,680.20 |
| | | | | | | | Entity Tota | l: | \$4,680.20 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$4,680.20 |
| Haakon | | | | | | | | | |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 1,092 | 1,343 | 5 | 2,440 | \$3,050.00 | \$61.01 | \$2,988.99 | 0.70 | \$2,092.29 |
| | | | | | | | Entity Tota | ıl: | \$2,092.29 |
| | | | | | | | Adjustmer | it: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$2,092.29 |

Hamlin

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 2,014 | 3,391 | 36 | 5,441 | \$6,801.25 | \$136.05 | \$6,665.20 | 0.70 | \$4,665.64 |
| | | | | | | | Entity Total | 1 | \$4,665.64 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$4,665.64 |

Hand

2/2016

1,097

2,804

20

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 1,359 | 2,536 | 10 | 3,905 | \$4,881.25 | \$98.03 | \$4,783.22 | 0.70 | \$3,348.25 |
| | | | | | | | Entity Total: | | \$3,348.25 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amour | it: | \$3,348.25 |
| Hanson | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |

\$4,901.25

\$99.47

\$4,801.78

Entity Total:

Adjustment:

0.70

\$3,361.25

\$3,361.25 \$0.00

3,921

Total Amount: \$3,361.25

Total Amount:

\$1,600.94

Harding

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 755 | 803 | 1 | 1,559 | \$1,948.75 | \$48.56 | \$1,900.19 | 0.70 | \$1,330.13 |
| | | | | | | | Entity Tota | al: | \$1,330.13 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$1,330.13 |
| Hughes | | | | | | | | | |

Hughes

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 5,381 | 13,904 | 111 | 19,396 | \$24,245.00 | \$512.74 | \$23,732.26 | 0.70 | \$16,612.58 |
| 12/2013 | 0 | 0 | 43 | 43 | \$53.75 | \$0.00 | \$53.75 | 0.70 | \$37.63 |
| 12/2014 | 0 | 0 | 133 | 133 | \$166.25 | \$0.00 | \$166.25 | 0.70 | \$116.38 |
| 12/2015 | 0 | 0 | 216 | 216 | \$270.00 | \$0.00 | \$270.00 | 0.70 | \$189.00 |
| | | | | | | | Entity Tota | al: | \$16,955.59 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$16,955.59 |

Hutchinson

| Reporti | ng Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|---------|-----------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 2/2016 | | 3,508 | 4,780 | 8 | 8,296 | \$10,370.00 | \$207.43 | \$10,162.57 | 0.70 | \$7,113.80 |
| | | | | | | | | Entity Tota | l: | \$7,113.80 |
| | | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | | Total Amou | int: | \$7,113.80 |
| | | | | | | | | | | |

Hyde

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 847 | 1,019 | 2 | 1,868 | \$2,335.00 | \$47.95 | \$2,287.05 | 0.70 | \$1,600.94 |
| | | | | | | | Entity Tota | al: | \$1,600.94 |
| | | | | | | | Adjustme | nt: | \$0.00 |

Jackson

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 724 | 809 | 0 | 1,533 | \$1,916.25 | \$38.37 | \$1,877.88 | 0.70 | \$1,314.52 |
| | | | | | | | Entity Tota | I: | \$1,314.52 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$1,314.52 |
| Jerauld | | | | | | | | | |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 1,044 | 1,176 | 0 | 2,220 | \$2,775.00 | \$55.51 | \$2,719.49 | 0.70 | \$1,903.64 |
| | | | | | | | Entity Tota | l: | \$1,903.64 |
| | | | | | | | Adjustmer | t: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$1,903.64 |

Jones

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 600 | 629 | 3 | 1,232 | \$1,540.00 | \$30.82 | \$1,509.18 | 0.70 | \$1,056.43 |
| | | | | | | | Entity Tota | l: | \$1,056.43 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amou | int: | \$1,056.43 |

Kingsbury

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 1,314 | 3,857 | 285 | 5,456 | \$6,820.00 | \$140.65 | \$6,679.35 | 0.70 | \$4,675.55 |
| | | | | | | | Entity Tota | l: | \$4,675.55 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amou | unt: | \$4,675.55 |
| Lake | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2016 | 3,306 | 9,013 | 25 | 12,344 | \$15,430.00 | \$316.68 | \$15,113.32 | 0.70 | \$10,579.32 |

| Entity Total: | \$10,579.32 |
|---------------|-------------|
|---------------|-------------|

Adjustment: \$0.00

Total Amount: \$10,579.32

\$23,393.64

\$23,393.64

\$5,859.27

\$0.00

Entity Total:

Adjustment:

Total Amount:

Lawrence

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 9,709 | 14,976 | 64 | 24,749 | \$30,936.25 | \$646.92 | \$30,289.33 | 0.70 | \$21,202.53 |
| | | | | | | | Entity Tota | l: | \$21,202.53 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amou | unt: | \$21,202.53 |
| Lincoln | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2016 | 6,450 | 20,380 | 531 | 27,361 | \$34,201.25 | \$781.76 | \$33,419.49 | 0.70 | \$23,393.64 |

Lyman

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 1,412 | 1,798 | 1 | 3,211 | \$4,013.75 | \$86.69 | \$3,927.06 | 0.70 | \$2,748.94 |
| | | | | | | | Entity Tota | l: | \$2,748.94 |
| | | | | | | | Adjustmen | ıt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$2,748.94 |

Marshall

2/2016

2,752

4,073

8

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 2,034 | 2,668 | 8 | 4,710 | \$5,887.50 | \$121.13 | \$5,766.37 | 0.70 | \$4,036.46 |
| | | | | | | | Entity Total | : | \$4,036.46 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$4,036.46 |
| McCook | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |

\$8,541.25

\$170.87

\$8,370.38

0.70

6,833

| | Entity Total: | \$5,859.27 |
|-----------|---------------|------------|
| | Adjustment: | \$0.00 |
| | Total Amount: | \$5,859.27 |
| McPherson | | |

Reporting Period Telecom Lines Wireless Lines VOIP **Total Lines** Surcharge Admin Fee Net Surcharge Entity **Entity Amount** Lines Percent 2/2016 1,164 1,419 1 2,584 \$3,230.00 \$77.77 \$3,152.23 0.70 \$2,206.56 Entity Total: \$2,206.56 Adjustment: \$0.00 **Total Amount:** \$2,206.56

Meade

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 4,417 | 15,997 | 460 | 20,874 | \$26,092.50 | \$565.82 | \$25,526.68 | 0.70 | \$17,868.68 |
| | | | | | | | Entity Tota | : | \$17,868.68 |
| | | | | | | | Adjustmen | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$17,868.68 |

Mellette

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 641 | 592 | 0 | 1,233 | \$1,541.25 | \$30.86 | \$1,510.39 | 0.70 | \$1,057.27 |
| | | | | | | | Entity Tota | : | \$1,057.27 |
| | | | | | | | Adjustmen | :: | \$0.00 |
| | | | | | | | Total Amou | int: | \$1,057.27 |

Miner

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 1,137 | 1,480 | 2 | 2,619 | \$3,273.75 | \$65.74 | \$3,208.01 | 0.70 | \$2,245.61 |
| | | | | | | | Entity Tota | l: | \$2,245.61 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$2,245.61 |

Minnehaha

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|--------------|------------|---------------------------------------|-------------------|--|
| 2/2016 | 49,285 | 136,783 | 1,321 | 187,389 | \$234,236.25 | \$4,925.38 | \$229,310.87 | 0.70 | \$160,517.61 |
| 12/2013 | 0 | 0 | 42 | 42 | \$52.50 | \$0.00 | \$52.50 | 0.70 | \$36.75 |
| 12/2014 | 0 | 0 | 66 | 66 | \$82.50 | \$0.00 | \$82.50 | 0.70 | \$57.75 |
| 12/2015 | 0 | 0 | 66 | 66 | \$82.50 | \$0.00 | \$82.50 | 0.70 | \$57.75 |
| | | | | | | | Entity Tota Adjustmer Total Amo | nt: | \$160,669.86 \$0.00 \$160,669.86 |

Moody

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 1,423 | 4,294 | 171 | 5,888 | \$7,360.00 | \$171.42 | \$7,188.58 | 0.70 | \$5,032.01 |
| | | | | | | | Entity Tota | l: | \$5,032.01 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amou | int: | \$5,032.01 |

Pennington

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|--------------|------------|---------------|-------------------|---------------|
| 2/2016 | 31,166 | 68,922 | 435 | 100,523 | \$125,653.75 | \$2,591.06 | \$123,062.69 | 0.70 | \$86,143.88 |
| 12/2013 | 0 | 0 | 79 | 79 | \$98.75 | \$0.00 | \$98.75 | 0.70 | \$69.13 |
| 12/2014 | 0 | 0 | 194 | 194 | \$242.50 | \$0.00 | \$242.50 | 0.70 | \$169.75 |
| 12/2015 | 0 | 0 | 194 | 194 | \$242.50 | \$0.00 | \$242.50 | 0.70 | \$169.75 |
| | | | | | | | Entity Tota | | \$86,552.51 |
| | | | | | | | Adjustmen | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$86,552.51 |
| Perkins | | | | | | | | | |

Perkins

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 1,881 | 2,392 | 6 | 4,279 | \$5,348.75 | \$117.08 | \$5,231.67 | 0.70 | \$3,662.17 |
| | | | | | | | Entity Total | : | \$3,662.17 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$3,662.17 |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 1,435 | 1,687 | 4 | 3,126 | \$3,907.50 | \$78.18 | \$3,829.32 | 0.70 | \$2,680.52 |
| | | | | | | | Entity Tota | ıl: | \$2,680.52 |
| | | | | | | | Adjustmer | it: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$2,680.52 |
| Roberts | | | | | | | | | |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 4,151 | 4,490 | 6 | 8,647 | \$10,808.75 | \$238.32 | \$10,570.43 | 0.70 | \$7,399.30 |
| | | | | | | | Entity Tota | al: | \$7,399.30 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$7,399.30 |

Sanborn

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 1,008 | 1,765 | 0 | 2,773 | \$3,466.25 | \$69.34 | \$3,396.91 | 0.70 | \$2,377.84 |
| | | | | | | | Entity Tota | : | \$2,377.84 |
| | | | | | | | Adjustmen | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$2,377.84 |

Spink

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 2,321 | 4,374 | 6 | 6,701 | \$8,376.25 | \$169.53 | \$8,206.72 | 0.70 | \$5,744.70 |
| | | | | | | | Entity Tota | l: | \$5,744.70 |
| | | | | | | | Adjustmer | it: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$5,744.70 |

Stanley

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 848 | 2,134 | 24 | 3,006 | \$3,757.50 | \$78.63 | \$3,678.87 | 0.70 | \$2,575.21 |
| 12/2014 | 0 | 0 | 30 | 30 | \$37.50 | \$0.00 | \$37.50 | 0.70 | \$26.25 |
| 12/2015 | 0 | 0 | 72 | 72 | \$90.00 | \$0.00 | \$90.00 | 0.70 | \$63.00 |

| | | | | | | | Adjustmer | \$0.00 | |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| | | | | | | | Total Amo | ount: | \$2,664.46 |
| Sully | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2016 | 849 | 1,084 | 1 | 1,934 | \$2,417.50 | \$48.46 | \$2,369.04 | 0.70 | \$1,658.33 |
| | | | | | | | Entity Tota | al: | \$1,658.33 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | Total Amo | ount: | \$1,658.33 |
| Todd | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2016 | 0 | 14 | 4 | 18 | \$22.50 | \$1.52 | \$20.98 | 0.70 | \$14.69 |
| | | | | | | | Entity Tota | al: | \$14.69 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | Total Amo | ount: | \$14.69 |
| Tripp | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2016 | 2,784 | 3,719 | 7 | 6,510 | \$8,137.50 | \$163.48 | \$7,974.02 | 0.70 | \$5,581.81 |
| | | | | | | | Entity Tota | al: | \$5,581.81 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | Total Amo | ount: | \$5,581.81 |
| Turner | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 2/2016 | 2,605 | 5,770 | 12 | 8,387 | \$10,483.75 | \$211.53 | \$10,272.22 | 0.70 | \$7,190.55 |
| | | | | | | | Entity Tota | al: | \$7,190.55 |
| | | | | | | | Adjustmer | nt: | \$0.00 |
| | | | | | | | Total Amo | ount: | \$7,190.55 |
| Union | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |

| 1/2016 | 0 | -250 | 0 | -250 | \$-312.50 | \$-6.25 | \$-306.25 | 0.70 | \$-214.38 |
|----------|-------|-------|----|--------|-------------|----------|---------------|------|---------------|
| 2/2016 | 3,116 | 9,442 | 80 | 12,638 | \$15,797.50 | \$384.91 | \$15,412.59 | 0.70 | \$10,788.81 |
| 12/2015 | 0 | -57 | 0 | -57 | \$-71.25 | \$-1.43 | \$-69.82 | 0.70 | \$-48.87 |
| | | | | | | | Entity Total: | : | \$10,525.56 |
| | | | | | | | Adjustment: | : | (\$10,525.56) |
| | | | | | | | Total Amour | nt: | \$0.00 |
| Walworth | | | | | | | | | |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 2/2016 | 2,445 | 3,518 | 10 | 5,973 | \$7,466.25 | \$150.28 | \$7,315.97 | 0.70 | \$5,121.18 |
| | | | | | | | Entity Tota | ıl: | \$5,121.18 |
| | | | | | | | Adjustmer | it: | \$0.00 |
| | | | | | | | Total Amo | unt: | \$5,121.18 |

Yankton

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-----------------|--------------|---------------|-------------------|---------------|
| 2/2016 | 6,581 | 14,479 | 28 | 21,088 | \$26,360.00 | \$537.58 | \$25,822.42 | 0.70 | \$18,075.69 |
| | | | | | | | Entity Tota | l: | \$18,075.69 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amou | unt: | \$18,075.69 |
| | | | | | | | | | |
| Totals | 254,961 | 541,085 | 6,596 | 802,642 | \$ 1,003,302.50 | \$ 21,061.57 | \$ 982,240.93 | | |